NOTES:

3020
— e ALL METERIALS TO BE MILD STEEL AND
CONFORM TO RELEVANT BRITISH STANDARDS.
2900 o AL ITEMS TO BE PRE-GALVANISED TO BS EN 10346
— OR HOT DIP GALVANISED TO ISO 1461
* e [TEMS (AN BE POWDER COATED ON REQUEST, POWDER
HII_I O © © © © © © © © © ® © © © © © © @ © © © © © © © © © © [UATlNE T[] : BS EN 13438
= e  INSTALLATION VIA RAMS
S* L e ALL PALE FIXINGS ARE PATCHED TREATED & GALVANISED
12mm THICK SWAGE TUBE AT 25.4mm @ [ ALLPOSTSARETOBE |
POSITIONED AT 100 CENTRE SPACING ON ALL FENCING FITTED WITH BLACK PLASTIC INSERTS
MAX = - - -
60 1%)0 _ 60 .
I A0 I e
A A
MIDRAIL APPLICABLE ON ALL HEIGHTS ALWAYS
V POSITIONED CENTRAL TO TOP AND BOTTOM RAIL
2 TO STOP BENDING OF TUBE
Ll ] = *
|_
(V)] |
> L
n =
O] <
= (a8
O O
% =
L (@)
= =z
<_E LL
o =
3 2 :
a > o
w Z o
= " =
3| © =
L = L
> L o
oc O =
L T I
— - G
= = / T
5| g o r 2 (B)y—
= o <,
O = o
- S o L] L]
j o™ (@ .
e S ~ Item | Component Name Quantity
o o
§ % § A EnviroProfect® - PRE GALVANISED ENVIRORAIL VERTICAL 1
o ~ ~ BAR FENCING PANEL
3| 8 2
00 8 8 B EnviroProtect® - DIG IN FENCING POST 60x60x3mm BOX 2
@ o - SECTION
~ - -
o o o ,
N S & C EnviroProfect® - TWIST CLEAT 6
o o i
B B 0 EnviroProtect® - M10 x 80mm CUP HEAD BOLTS PATCH 6
§ § TREATED GALV
~ & ' E EnviroProtect® - M10 SNAP OFF NUT GALV FOR 12
S Y = SECURITY BOLTS
S | -1
~ _ A = _ F EnviroProtect® - PRE GALV ENVIRO RAILING SUPPORT 2
= = LEG FOR PANEL
LN
N G EnviroProtect® - 60 x 60 BLACK RIBBED INSERTS 2
— 50mm GROUND CLEARANCE 50mm GROUND CLEARANCE
H EnviroProtect® - M16 x 125mm GROUND ANCHOR BZP 8
DETAIL A
_ | EnviroProtect® - M10 x 45mm CUP HEAD BOLTS PATCH 6
[ el ] ‘ TREATED GALV
[c@]
[\V - W LlE h EnviroProfect® 1.8m x 3.0 High
o nviroProtect® 1.8m x 3.0 High -
700NN T B00MM IN GROUND R A DRWN___ 1 LT ooz 29M WIDE DIG IN FENCING KIT
DEPENDING ON HEIGHT OF FENCING . TOLERANCE |+ Zmm
\ . Unless Stated Otherwise ||IIIFirstFence® (F?lzé’géllzj%ﬁl’i&istdhk
650x300x300mm, GRADE C20/25 Y e g 3RO ANGLE R
IVI I N I IVI U IVI CO N C R ET E F O U N DATI O N : X \® /I SlZE E\SRBSETLFDE;:&( DISCREPANCIES BE FOUND WITH THIS ORAWING, PLEASE INFORM REV
'— - AZ COPYRIGHT OF THIS ORAWING IS OWNED BY FIRSTFENCE LIMITED. A
FILE NAME: EnviroProtect® 1.8m x 3.0 High - 29M WIDE FENCING KIT RANGE DRAWING.dft I\l IWEIGHT: N/A SHEET 1 OF 7




NOTES:

3020 e AL METERIALS TO BE MILD STEEL AND
| - CONFORM TO RELEVANT BRITISH STANDARDS.
e ALL ITEMS TO BE PRE-GALVANISED TO BS EN 10346

2900 OR HOT DIP GALVANISED TO IS0 1461

— - e [TEMS CAN BE POWDER COATED ON REQUEST, POWDER
* COATING TO - BS EN 13438

@ |® o INSTALLATION VIA RAMS

[ ]

_ LS ALL PALE FIXINGS ARE PATCHED TREATED & GALVANISED
i e o olr L 8 © BASE PLATE SIZE MINIMUM

,]50 MIN
2
o
©
©
©
©
©
©
©
©
©
©)
©
©
©
©
©
©
©
©
©
©
r©
©
©
©
©
©
©
©
©
=

ALL POSTS ARE TO BE ‘
FITTED WITH BLACK PLASTIC INSERTS

150 x 150MM FOR ALL HEIGHTS

12mm THICK SWAGE TUBE AT 254mm @
POSITIONED AT 100 CENTRE SPACING ON ALL FENCING

60mm / 200mm ,

MAX =
60 J?O_h S 60
—— ] m — —~———
‘ [ [] [ [] [ [] [] [ [ [] [] [ [] [] [ [ [] [ [ [] [] [ [] [] | ‘
LN
O MIIIJITAIL APPLICABALE_(rJN ALL HEIGHTS ALWAY:IL @
_ ! <A G R R L7
= i L
; ‘# .
7)) L
o =z
= ~
o O
= =
: E 8!
<
= =
o <
g oc
= @
L o
L >
- S
5 ; B——
T T
5 A 5
é 4 = = s ™ L L
L A
<>3 % Item | Component Name Quantity
o S~
8 A A EnviroProtect® - PRE GALVANISED ENVIRORAIL VERTICAL 1
2 ~ BAR FENCING PANEL
~
§ Q B EnviroProtect® - BOLT DOWN FENCING POST 60x60x3mm 2
N Q BOX SECTION
—~ S~
§ Q C EnviroProtect® - TWIST CLEAT 6
(@)
Q : 0 EnviroProtect® - M10 x 80mm CUP HEAD BOLTS PATCH 6
8 Q TREATED GALV
o
: o E EnviroProtect® - M10 SNAP OFF NUT GALV FOR 12
S SECURITY BOLTS
o0
— A * F EnviroProtect® - PRE GALV ENVIRO RAILING SUPPORT 2
il ‘ﬁ ! LEG FOR PANEL
V =0 5 | A | Tm
%ﬁ . . N = A g o0 ( ) b EnviroProtect® - 60 x 60 BLACK RIBBED INSERTS 2
BN = - H EnviroProtect® - M16 x 125mm GROUND ANCHOR BZP 8
/ JETAIL A " | | EnviroProtect® - M10 x 45mm CUP HEAD BOLTS PATCH 6
£20/25 MINIMUM CONCRETE , TREATED GALV
[ W sl ANCHOR BOLTS FITTED IN P AME T G
o -t ACCORDANCE WITH I T — EnviroProtect® 1.8m x 30 High -
o MANUFACTURERS N ) O I m :
o1 ! AR N H < AR 2.9M WIDE BOLT DOWN FENCING KIT
~ 1 - A L ! Unless Stafed Offerwise | fllFirstionqe”  houi e svaecoe
] q ‘4 A’]6 L q a 3RD ANGLE HIRE & SALES 01283512111  sales@firstfence.co.uk
" ’—// . N ] a B VA . /I SlZE E‘HRUSL#FDE'??? DISCREPANCIES BE FOUND WITH THIS ORAWING, PLEASE INFORM REV
5 . < B . '— - AZ COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED. A
FILE NAME: EnviroProtect® 1.8m x 30 High - 29M WIDE FENCING KIT RANGE DRAWING.dft — | WEIGHT: /A SHEET 2 OF 7




EnviroProtect® - END POST CONFIGURATION

200

70

@\ (:' |

0

NOTES:

e  ALL METERIALS TO BE MILD STEEL AND
CONFORM TO RELEVANT BRITISH STANDARDS.

e ALL ITEMS TO BE PRE-GALVANISED TO BS EN 10346
OR HOT DIP GALVANISED TO IS0 1461

e [TEMS CAN BE POWDER COATED ON REQUEST, POWDER
COATING TO : BS EN 13438
INSTALLATION VIA RAMS
ALL PALE FIXINGS ARE PATCHED TREATED & GALVANISED

200

30

EnviroProtect®- END POST CONFIGURATION

FILE NAME: EnviroProtect® 1.8m x 3.0 High - 2.9M WIDE FENCING KIT RANGE DRAWING.dft

NAME OATE

TITLE

ORAWN

LT 16/02/24

TOLERANCE

t 2mm
Unless Stated Otherwise

EnviroProtect® 1.8m x 3.0 High -

29M WIDE FENCING KIT

3RO ANGLE

WiFirstrence”

HIRE & SALES

First Fence Itd, Kiln Way, Swadlincote,
Derbyshire, DE11 8EA
01283512111  sales@firstfence.co.uk

&=

NOTE:
SlZE SHOULD ANY DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM

FIRSTFENCE.
A2 COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED.

REV

A

IWEIGHT: /A

SHEET 3 OF 7




EnviroProtect® - CORNER POST CONFIGURATION ores

e  ALL METERIALS TO BE MILD STEEL AND
CONFORM TO RELEVANT BRITISH STANDARDS.

e ALL ITEMS TO BE PRE-GALVANISED TO BS EN 10346
OR HOT DIP GALVANISED TO IS0 1461

e [TEMS CAN BE POWDER COATED ON REQUEST, POWDER
COATING TO : BS EN 13438
INSTALLATION VIA RAMS
ALL PALE FIXINGS ARE PATCHED TREATED & GALVANISED

\ _\/ BOLT AND HOLE POSITIONED 10MM LOWER ON ONE

/ISO = SIDE OF POST TO AVIOD CLASH OF BOLTS, TWIST
- — CLEAT SLOT ALLOWS 15MM OF ADJUSTMENT
. - >
7 %
~ Y - -

A A
o | | P
R el 0 | | f‘:
~ n @i::ﬁﬂ:: |“5,L-.’ | | *@”
- — e ) |
=4 —
\ / TWIST CLEAT
N\ LN
& N
y J
EnviroProtect® - CORNER POST CONFIGURATION
NAME DATE TITLE

EnviroProtect® 1.8m x 3.0 High -

DRAWN LT 16/02/24 29M WIDE FENCING KIT
TOLERANCE  |= Zmm

Un le SS STDTed []Jm erwi se II||| FirstFence® First Fence Itd, Kiln Way, Swadlincote,

Derbyshire, DE11 8EA

01283512111  sales@firstfence.co.uk

BRD ANELE HIRE & SALES
l/l SIZE gi@l&m DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM REV
|- - A2 COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED A
FILE NAME: EnviroProtect® 1.8m x 3.0 High - 29M WIDE FENCING KIT RANGE DRAWING.dft I\l WEIGHT: N/A SHEET & OF 7






